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Annexure-1

Calculation procedure: Standard Tenor Yield

Standard tenor yield calculation process using the interpolation/extrapolation methods
based on latest cut off yield of auctions as illustrated below:

Standard Tenor Yield (For 2, 5, 10 and 15 Years):

Y2-v1

Y=Y1 t oo

Where,
Y1 = Latest auction cut-off yield.
Y2 = Immediate higher tenor cut-off yield.
T1 = Tenor of bond associated with Y1.
T2 = Tenor of bond associated with Y2.
T = Standard tenor.

(T —T1)

Standard Tenor Yield (For 20 Year):
_ Y1-Y3
Y=Y1+o—o (T=T1)
Where,

Y3 = Immediate lower tenor cut-off yield.
T3= Tenor of bond associated with Y3.

Available Data from Auction Standard Tenor Yield Calculation

Tenor Cut off Yield Standard Tenor Calculation Process Yield

(Year) (%) (Year) (%)
1.85 5.09 2 5.09 + (5.45 - 5.09)/(4.92 - 1.85)*(2 - 1.85) 5.11
4.92 5.45 5 5.45 + (7.54 - 5.45)/(9.93 - 4.92)*(5 - 4.92) 5.48
9.93 7.54 10 7.54 + (7.70 - 7.54)/(14.92 - 9.93)*(10 - 9.93) 7.54
14.92 7.70 15 7.70 +(8.44 - 7.70)/(19.92 - 14.92)*(15-14.92) | 7.71
19.92 8.44 20 8.44 + (8.44 - 7.70)/(19.92 - 14.92)*(20 - 19.92) | 8.45




